73

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

0185910290 HANSAMIX - Fertigset fiir Brause-Batterie

EAN: 4015474540880
static.hansa.com/0185910290

Ersatzteile
SP01859102
Name Art.-Nr.

1 Hebel Weiss 5990188282
1 Hebel, (-2004) Chrom 59901882
11 Schraube, M5x8, SW2.5 59904755
12 Kunststoffadapter 59904778
13 Blindstopfen, hot/cold 59906705
2 Abdeckkappe Chrom 59904820
25 Gummidichtung 59912232
5 Umstellung Weiss 59910901
7 Rosette Chrom 59910662
71 Schraube, M5x65 Chrom 59904847
71 Schraube, M5x65 Weiss  [NEENEY 59906672
71 Schraube, M5x65 Gold 59904849

1


https://static.hansa.com/0185910290

